=]

23 > ; —
© rythontuiEry wase G iz

g 5+ 71 >>> model.output_shape ﬁg'—i&ﬁﬂjﬂfﬁ
REEF Ke ras ]%_F\‘*%:l: >>> model.summary () EAEE R
>>> from keras.models import Sequential >>> model.get_config () 1A .
>>> model = Sequential () >>> model.get weights () SRR R BN E K E
>>> model2 = Sequential () =
>>> model3 = Sequential () éﬁﬁ*ﬁﬂ
Keras ZEREMZE (MLP) SRBAE: HHINE
—HE S >>> model.compile (optimizer="adam',
— 1 ="bi crossentropy'
o s = >>> from keras.layers import Dense m(;stsricsin[a'?ézuracy' i Py
KerasEig K. ZBRAREF SR, EFTheanoflTensorFlowefit >>> model.add (Dense (12, SRR SR
TEMEEMEAPI, BTFHLITHEREFSIIRE, input_dim=8, >>> model.compile (optimizer='rmsprop',
kernel_ initializer='uniform', loss='"categorical_crossentropy',
_— activation='relu')) =T . | metrics=["'accuracy'])
3l >>> model.add (Dense (8, kernel initializer='uniform',activation='relu')) ZREME: B . o ., ,
S>> import numpy as np >>> model.add (Dense (1,kernel initializer='uniform',activation='sigmoid"')) >>> model.compile (igzéi}fnzél repreR
>>> from keras.models import Sequential SRS metrics=['mae'])
>>> from keras.layers import Dense >>> from keras.layers import Dropout B R
>>> data = np.random.random((1000,100)) >>> model.add (Dense (512, activation="relu', input shape=(784,))) = T ) o ,
>>> labels = np.random.randint (2,size=(1000,1)) >>> model.add (Dropout (0.2)) >>> model3.compile (éoi;ik;éifga;;?sSentmpy ’
>>> model = Sequential () >>> model.add (Dense (512,activation="relu')) mgtrics:['accuraéy'])
>>> model.add (Dense (32, >>> model.add (Dropout (0.2))
(

activation='relu', >>> model.add (Dense (10, activation="'softmax"'))

iR |
>>> model.add (Dense (1, activation='sigmoid')) [E1)3 I

>>> model.compile (optimizer="'rmsprop', >>> model.add (Dense (64,activation="relu', input dim=train data.shape[1])) >>> model3.fit (x_traind,
loss='binary crossentropy', >>> model.add (Dense (1)) y traind,

i batch size=32
metrics=["'accuracy']) 0242 4% _S ’
>>> model.fit (data, labels, epochs=10,batch_size=32) %ﬁ’&qiélm’u (CNN) sggggzgiil
>>> predictions = model.predict (data) >>> from keras.layers import Activation,Conv2D,MaxPooling2D,Flatten validation data=(x testd,y testd))

>>> model2.add (Conv2D (32, (3, 3) ,padding="same', input shape=x train.shape[l:]))
¥ >>> model2.add(Activation('relu')) N ol

)| [ o e s, TSR AR
BIRETFH NumPy $EAS#AATIR, A sklearn.cross_validation :i mogei'a:g
B9 train_test_split HRH#ITHENEEIRD BN £ 5 EE, moce.s-a

>>> model2.add

Activation('relu')) >>> score = model3.evaluate(x_ test,

MaxPooling2D (pool_size=(2,2))) y_test,
Dropout (0.25)) batch size=32)

(
(
(
(
>>> model2.add(Conv2D (64, (3,3), padding='same'))
Keras fﬂ(?}é‘% >>> model2.add (Activation('relu')) %ﬁjiﬂ]”
>>> model2.add(Conv2D (64, (3, 3))) - ;
>>> from keras.datasets import boston_housing, >>> model2.add (Activation ('relu')) >>> model3.predict (x_testd4, batch size=32)
mr}ist, >>> model2.add (MaxPooling2D (pool size=(2,2))) >>> model3.predict_classes(x_test4d,batch_size=32)
i;ﬁgrlof >>> model2.add (Dropout (0.25))
>>> (x_train,y_train), (x_test,y_test) = mnist.load data() >>> model2.add (Flatten()) RIF/INEHEE
>>> (x_train2,y train2), (x_test2,y test2) = boston housing.load data() >>> model?2.add (Dense (512))
>>> (x_train3,y train3), (x_test3,y test3) = cifarl0.load data() >>> model?2.add (Activation ('relu')) >>> from keras.models import load model
>>> (x_train4,y train4), (x test4,y test4) = imdb.load data (num words=20000) >>> model2.add (Dropout (0.5)) >>> model3.save ('model file.h5")

>>> num_classes = 10

>>> model2.add(Dense (num_classes)) p>> my _model = load model('my _model.hS')

=E TRETIE
N Sth 42
>>> from urllib.request import urlopen @U3$$éllx_>€|% (RNN)

>>> data = np.loadtxt (urlopen ("http://archive.ics.uci.edu/ : : 7"? ;‘&ﬁt'ﬂj
ml/machine-learning-databases/pima-indians-diabetes/ >>> from keras.klayers import Embedding,LSTM
g L >>> model3.add (Embedding (20000,128))

lpima-indians-diabetes.data"),delimiter=",") >>> from keras.optimizers import RMSprop

>>> X = datal:,0:8] >>> model3.add (LSTM(128,dropout=0.2, recurrent dropout=0.2)) >>> opt = RMSprop(lr=0.0001, decay=le-6)

>>> y = data [:,8] >>> model3.add(Dense(l,activation="'sigmoid')) >>> model2.compile (loss='categorical crossentropy',
optimizer=opt, -

|

metrics=["'accuracy'])
S(SES
. T 2157
1)1 1|2k 5 i3
}_%_5] E?E -LJ ﬁx%/”fk% >>> from keras.callbacks import EarlyStopping
>>> from keras.preprocessing import sequence >>> from sklearn.model selection import train test split >>> early stopping monitor = EarlyStopping (patience=2)
>>> x_train4 = sequence.pad_sequences (x_train4,maxlen=80) >>> X train5,X test5,y trainS,y test5 = train test split(X, >>> model3.fit (x_train4,
>>> x testd = sequence.pad_sequences (x_test4,maxlen=80) }:/ést_size:OJB, g_tr}alinéll, -
dom state=42) atch size=32,
T PR “onCoT s
FORE S = epochs=15
] ] i *m)ﬁﬂé/'}fl—ﬂﬁ validatio;l data=(x_testd,y testd)
>>> from keras.utils import to_categorical ks=T 1 — Sorr_m= ’
>>> Y train = to_categorical (y_train, num_classes) >>> from sklearn.preprocessing import StandardScaler callbacks=[early stopping monitor])
>>> Y test = to_categorical(y_ test, num classes) >>> scaler = StandardScaler () .fit (x train2)
>>> Y train3 = to categorical(y train3, num classes) >>> standardized X = scaler.transform(x_train2) DataCa
>>> Y test3 = to categorical (y test3, num classes) >>> standardized X test = scaler.transform(x_ test2) Learn Python fo e lnterachuely
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